Intersection: Matadero Ave at El Camino Real, Palo Alto, California

MapData payload size 896
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gov.usdot.asnl.generated.j2735.dsrc.Messageframe
value MessageFrame ::= {
messageld 18,
value MapData : {
msglssueRevision 11,
layerType intersectionData,
intersections {
{
id {
region O,
id 1010
by
revision O,
refPoint {
lat 374191687,
long -122134548¢,
elevation 100
by
lanewWidth 350,
speedLimits {
{
type vehicleMaxSpeed,

speed 559
}
by
laneSet {
{
lanelID 1,

ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed, maneuverLeftAllowed, maneuverRightAllowed,
maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 159,
y 2149
}
by
{

delta node-XY4 : {



x 1836,
y 2804
}
by
{

delta node-XY5 : {
x 2365,
y 3549
}
by
{
delta node-XY5 : {
x 3813,
y 5850
}
by
{
delta node-XY5 : {
x 4046,
y 6072
}
}
b
connectsTo {
{
connectingLane {
lane 9,
maneuver {maneuverLeftAllowed}
by
signalGroup 4
by
{
connectingLane {
lane 12,
maneuver {maneuverStraightAllowed}
by
signalGroup 4
by
{
connectingLane {
lane 18,
maneuver {maneuverRightAllowed}
by
signalGroup 4

}

lanelID 2,

egressApproach 2,

laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}

by
maneuvers {maneuverStraightAllowed, maneuverLeftAllowed, maneuverRightAllowed},

nodelList nodes : {
{
delta node-XY3 : {
x 477,
y 1952
}
by
{
delta node-XY4 : {
x 1756,
y 2810
}
by



delta node-XY5 : {
x 2400,
y 3646
}
by
{

delta node-XY5 : {
x 3791,
y 5816
}
by
{

delta node-XY5 : {
x 4177,
y 6022

lanelID 3,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed, maneuverRightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 2341,
y —-209
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 782
}
}
by
dwidth 10
}
by
{

delta node-XY5 : {
x 5116,
y —-3453
}
by
{

delta node-XY4 : {
x 2795,
y —-1824
}
by
{

delta node-XY5 : {
x 4742,
y -3120
}
}
by
connectsTo {
{

connectingLane {



lane 2,
maneuver {maneuverRightAllowed}
b
signalGroup 6
b
{
connectingLane {
lane 18,
maneuver {maneuverStraightAllowed}

by
signalGroup 6

lanelID 4,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 2132,
y —-524
}
by
{

delta node-XY5 : {
x 5051,
y —-3354
}
by
{

delta node-XY4 : {
x 2920,
y —-1893
}
by
{

delta node-XY5 : {
x 4700,
y —-3090
}
}
b
connectsTo {
{
connectingLane {
lane 19,
maneuver {maneuverStraightAllowed}
by
signalGroup 6
}
}
by
{
lanelID 5,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {



delta node-XY4 : {
x 1924,
y —-805
}
by
{

delta node-XY5 : {
x 5346,
y —-3600
}
by
{

delta node-XY4 : {
x 2627,
y —-1669
}
by
{

delta node-XY5 : {
x 4633,
y =3070
}
}
b
connectsTo {
{
connectingLane {
lane 20,
maneuver {maneuverStraightAllowed}
by
signalGroup 6
by
{

connectingLane {
lane 6,
maneuver {maneuverStraightAllowed}

lanelID o,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverlLeftAllowed, maneuverUTurnAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 1738,
y -1112
by
attributes {
dwidth -30
}
by
{

delta node-XY4 : {
x 2611,
y -1756
}
by
{

delta node-XY4 : {
x 2275,



y —-1533
}
b
{

delta node-XY2 : {
x 640,
y -4
}
}
by
connectsTo {
{
connectingLane {
lane 9,
maneuver {maneuverUTurnAllowed}
by
signalGroup 1
by
{

connectingLane {

lane 12,

maneuver {maneuverLeftAllowed}
by
signalGroup 1

}

lanelID 7,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 1007,
y —-2168
by
attributes {
dwidth 30
}
by
{

delta node-XY5 : {
x 4389,
y —-2802
}
by
{

delta node-XY5 : {
x 3512,
y —-2369
}
by
{

delta node-XY5 : {
x 4597,
y —-3033
}
}
by
connectsTo {
{
connectingLane {
lane 10,



maneuver {maneuverStraightAllowed}
by
remoteIntersection {

region O,

id 1011

laneID 8,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 1214,
y —-1853
}
by
{

delta node-XY5 : {
x 4314,
y —2825
}
by
{

delta node-XY5 : {
x 3574,
y —-2328
}
by
{

delta node-XY5 : {
x 4634,
y —-3097
}
}
b
connectsTo {
{
connectinglane {
lane 11,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1011

laneID 9,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {



x 1421,
y —-1563
}
b
{

delta node-XY5 : {
x 4274,
y —2853
}
by
{

delta node-XY5 : {
x 3568,
y -2319
}
by
{

delta node-XY5 : {
x 4686,
y —-3102
}
}
by
connectsTo {
{
connectingLane {
lane 10,
maneuver {maneuverStraightAllowed}
}
by
{

connectinglLane {

lane 12,

maneuver {maneuverStraightAllowed}
b
remoteIntersection {

region O,

id 1011

laneID 10,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverUTurnAllowed},
nodeList nodes : {
{
delta node-XY6 : {
x 9263,
y —6735
by
attributes {
dwidth -30
}
by
{

delta node-XY2 : {
x 802,
y —-133
}
by
{

delta node-XY3 : {



x 1472,
y -969
}
by
{

delta node-XY4 : {
x 2340,
y -1529
}
}
by
connectsTo {
{
connectingLane {
lane 5,
maneuver {maneuverUTurnAllowed}

}
b
{
laneID 11,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
I

maneuvers {maneuverStraightAllowed, maneuverLeftAllowed,

maneuverRightTurnOnRedAllowed},
nodeList nodes : {
{
delta node-XY4 : {
x =269,
y —2357
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 559
}
}
by
dwidth 30
}
by
{

delta node-XY4 : {
x =-2200,
y —-3127
}
by
{
delta node-XY5 : {
x =-2760,
y —4241
}
by
{

delta node-XY6 : {
x -5989,
y —-9214
}
}
by
connectsTo {

{

maneuverRightAllowed,



connectingLane {
lane 2,
maneuver {maneuverStraightAllowed}
by
signalGroup 3
by
{

connectingLane {
lane 7,
maneuver {maneuverRightAllowed}
by
signalGroup 3
by
{
connectingLane {
lane 20,
maneuver {maneuverLeftAllowed}
by
signalGroup 3
}

laneID 12,
egressApproach 6,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed, maneuverLeftAllowed},
nodelList nodes : {
{
delta node-XY4 : {
X -633,
y -2126
}
by
{

delta node-XY4 : {
x —-2049,
y —-3235
}
by
{

delta node-XY5 : {
x -2731,
y —4305
}
by
{

delta node-XY6 : {

x -6095,
y —-9196
}
}
}
by
{
lanelID 13,

ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed, maneuverRightAllowed,
maneuverRightTurnOnRedAllowed},
nodeList nodes : {



delta node-XY3 : {
x -1854,
y —327
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 782

delta node-XY5 : {
x —-6154,
y 4038
}
by
{

delta node-XY4 : {
x =-2307,
y 1407
}
by
{

delta node-XY5 : {
x -5369,
y 3314
}
by
{

delta node-XY4 : {
x =-3049,
y 1991
}
}
b
connectsTo {
{
connectingLane {
lane 7,
maneuver {maneuverStraightAllowed}
by
signalGroup 2
by
{

connectingLane {
lane 12,
maneuver {maneuverRightAllowed}

b
signalGroup 2

laneID 14,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
I
maneuvers {maneuverStraightAllowed},
nodeList nodes : {

{



delta node-XY3
x -1871,
y 172
}
I
{

delta node-XY5
x -5884,
y 3842
}
by
{

delta node-XY4
x —-2378,
y 1461
}
by
{

delta node-XY5
x -5315,
y 3238
}
by
{

delta node-XY4
x -3153,
y 2048
}
}
by
connectsTo {

{

connectingLane {

lane 8,

maneuver {maneuverStraightAllowed}

b
signalGroup 2

}
by
{
lanelID 15,

ingressApproach 7,
laneAttributes {

directionalUse {ingressPath},

sharedWith {},
laneType vehicle
by

{}

maneuvers {maneuverStraightAllowed},

nodelList nodes : {
{
delta node-XY3
x -1855,
y 544
}
by
{

delta node-XY5
x -3639,
y 2376
}
by
{

delta node-XY4
x —-2142,
y 1420
}
by
{

{

{

{



delta node-XY4 : {
x =2299,
y 1424
}
by
{

delta node-XY5 : {
x -4098,
y 2528
}
by
{

delta node-XY4 : {
x =1793,
y 1114
}
by
{

delta node-XY4 : {
x -2525,
y 1614
}
}
by
connectsTo {
{
connectingLane {
lane 9,
maneuver {maneuverStraightAllowed}
by
signalGroup 2
by
{

connectingLane {
lane 16,
maneuver {maneuverStraightAllowed}
}
by
{

connectingLane {
lane 17,
maneuver {maneuverStraightAllowed}

lanelID 16,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverlLeftAllowed, maneuverUTurnAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -1879,
y 973
by
attributes {
dWwidth -30
}
by
{

delta node-XY4 : {
x =1727,
y 1137



}
b
{

delta node-XY3 : {
x -1223,
y 756
}
by
{

delta node-XY2 : {
X —-665,
y 54
}
}
by
connectsTo {
{
connectingLane {
lane 2,
maneuver {maneuverLeftAllowed}
by
signalGroup 5
by
{

connectingLane {
lane 20,
maneuver {maneuverUTurnAllowed}
by
signalGroup 5
}

laneID 17,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverUTurnAllowed},
nodelList nodes : {
{
delta node-XY6 : {
x =9747,
y 6079
}
by
{

delta node-XY4 : {
x -2906,
y 1741
}
by
{

delta node-XY4 : {
x —-2335,
y 1390
}
by
{

delta node-XY2 : {
x —-838,
y 196
}
}
by
connectsTo {

{



connectingLane {
lane 20,
maneuver {maneuverUTurnAllowed}

laneID 18,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x =-1227,
y 2105
by
attributes {
dwidth 30
}
by
{

delta node-XY5 : {
x -5697,
y 3701
}
by
{

delta node-XY4 : {
x —-2132,
y 1383
}
by
{

delta node-XY5 : {
x -4646,
y 2763
}
by
{

delta node-XY5 : {
x -3912,
y 2586
}
}
b
connectsTo {
{
connectinglane {
lane 3,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1009

}

by

{
laneID 19,
egressApproach 8,

laneAttributes {
directionalUse {egressPath},



sharedWith {},
laneType vehicle : {}
I
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -1475,
y 1781
}
}y
{

delta node-XY5 : {
x -5666,
y 3717
}
by
{

delta node-XY4 : {
x —-2153,
y 1392
}
by
{

delta node-XY5 : {
x -4623,
y 2753
}
by
{

delta node-XY5 : {
x -3912,
y 2555
}
}
b
connectsTo {
{
connectinglane {
lane 4,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1009

laneID 20,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -1657,
y 1506
}
by
{

delta node-XY4 : {
x -2610,
y 1720



}
}y
{

delta node-XY4 : {
x -3016,
y 1971
}
by
{

delta node-XY4 : {
x —-2254,
y 1377
}
by
{

delta node-XY5 : {
x -4576,
y 2752
}
by
{

delta node-XY5 : {
x —-3880,
y 2561
}
}
by
connectsTo {
{
connectingLane {
lane 5,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1009
}
by
{

connectingLane {
lane 21,
maneuver {maneuverStraightAllowed}

laneID 21,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverUTurnAllowed},
nodelList nodes : {
{
delta node-XY5 : {
x -4267,
y 3226
by
attributes {
dwidth -30
}
by
{

delta node-XY2 : {
x -595,
y —-63



}
}y
{

delta node-XY4 : {
X —-2622,
y 1716
}
}
by
connectsTo {
{
connectingLane {
lane 15,
maneuver {maneuverUTurnAllowed}

}
by
{
lanelID 22,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
b
nodelList nodes : {
{
delta node-XY4 : {
x -468,
y 2343
}
by
{
delta node-XY3 : {
x 1465,
y —-925
}
}
b
connectsTo {
{
connectingLane {
lane 23,
maneuver {maneuverRightAllowed}
by
signalGroup 14
by
{
connectingLane {
lane 25,
maneuver {maneuverlLeftAllowed}
by
signalGroup 14
}
}
by
{
laneID 23,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
b
nodelList nodes : {
{
delta node-XY4 : {
x 2461,
y 272
}



}y
{

delta node-XY3 : {
x =973,
y -1565
}
by
{

delta node-XY3 : {
x =967,
y —-1285
}
}
by
connectsTo {
{
connectingLane {
lane 22,
maneuver {maneuverLeftAllowed}
by
signalGroup 12
by
{

connectingLane {
lane 24,
maneuver {maneuverRightAllowed}
b
signalGroup 12
}
}
b
{
lanelID 24,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
I
nodeList nodes : {
{
delta node-XY4 : ({
x 521,
y —-2578
}
b
{

delta node-XY3 : {
x -1805,
y 857
}
}
by
connectsTo {
{
connectingLane {
lane 23,
maneuver {maneuverLeftAllowed}
by
signalGroup 10
by
{
connectingLane {
lane 25,
maneuver {maneuverRightAllowed}

by
signalGroup 10

s



laneID 25,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
b
nodelList nodes : {
{
delta node-XY3 : {
x -1668,
y -1051
}
by
{

delta node-XY4 : {
x —-42,
y 2241
}
by
{

delta node-XY3 : {
x 881,
y 1161
}
}
I
connectsTo {
{
connectingLane {
lane 22,
maneuver {maneuverRightAllowed}
b
signalGroup 12
b
{

connectingLane {
lane 24,
maneuver {maneuverLeftAllowed}

b
signalGroup 12

}
by
{
lanelID 26,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {}
by
nodeList nodes : {
{
delta node-XY6 : {
x 15183,
y —-8118
}
by
{

delta node-XY3 : {
x -1012,
y =-1170
}
by
{

delta node-XY3 : {
x -1151,
y -1360

}



laneID 27,
laneAttributes {

directionalUse {ingressPath,

sharedWith {},

laneType crosswalk

by
nodeList nodes : {
{
delta node-XY6
x —-8488,
y 3482
}
by
{

delta node-XY3
x 743,
y 1258
}
by
{

delta node-XY3
x 1005,
y 1681

}

egressPbPath},



